MAT

b}

b)

[PT-1219)

4

Prove that the sum of the three angles
of a triangle is 180°.

Fee &t T fng & AW @l @ am
180° & SHTER #1 £ |

Find the area ol that trapezium whose
paralle] sides are of lengths 30 cm and
16 cm and the distance between the
two is 8 cm.

16 FH & 91 3 W A 8 W
Find the area of a right angled triangle
whose perpéndicular sides are 30 cm
and 40 e¢m respectively.

O 30 FHI wE 40 T & 39 Fg=
T B T
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Candidates are requtred to give their answers in their

own words as far as practicable.
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All questions are of equal value.
Tt WY F A =

Answer any five questions in which Question No. 1 is

compulsory.

sl O W91 % 37 & 9" W9 Ho 1 a0
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What do you understand by ‘Heuristic
method' ? Explain with examples.
ORrR

Compare the Inductive and Deductive
methods,

ANeh @M W 9w eEEH 6 7 3w
Hied =awEn F1 |
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a)- Find the square root of

Compare the Analytic and Synthetic methods.

225
3136

225 w7 g Fd i |

3136

by Find the value of

(12 +2% 433 +43)3/2
(1% +22 + 3% 4+ 47 3/2 =1 9 T

T |

a) Write the expanded form of
lx+2y+4z|2. “

(2 +2y+4z)° &) HHiE w9 1 ford |
b) Factorise m= —10m + 24 .

m* —10m + 24 T EIE FHTE |
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Salve the equation 4.155_-;18 =2 and

verify your answer.

4‘*5—*;‘”-‘;21:{1:%%#1'3?{#3&

19 I ) A F=

Find L.C.M. of 4, 8, 12, 16, 20, 24,

4, 8, 12, 16, 20, 24 H ALAH FHTEY
=T |

The length and breadth of a rectangle

are 90 m and 60 m respectively. Find
the area and perimeter of the rectangle.

T A W e ek hed wew
90 Hiet AW 60 WX & 1aT F EFFE
s GRHIE S &

The side of a square is 70 m. Find the
area and perimeter of the sguare.

fdt = &) T e vo e &1 9t @
KHe U8 TR 00 w5
The diameter of a circle is 14 m. Find

the circumference and area of the
circle.

ferHl =7 1 S 14 HiZT €1 g9 H U
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